i< LIRFVE

vy 45 -EARHD

H1000

& 2520 (B

KFTHO190/

@516

/{%B - 1 ® ®
0
AP /7:\ e @@13 fwm
Q 0
] - | o OJ7J:>
2320 1=alc
52 1103 10 1103 52 — > 52)
08 ESH
: ©
= I A EHAR (178 OHER (1/8)
o @&8} BE]  Bi% BB (mm n_& 5@
® 1 1 BRI $60.5x t3.2 STK400 HERHES
ol o 2 MiExyy 7 t1.6 SPCC (@ 7h3-3T2Y9LBEH- )
RS 3| mmEr (BED 50% 120 A6063S B {8 AR
2 4 | mRER Gefd 50x 120 A6063S BB B A KR
5 1 mmr (2D 50x 120 A6063S B {8 AR
3 = % 6 LT 25% 60 ABO63S BB A BE
1= i =1 71 wrcuaz t0.5 SGC ThtEE (FRERD- %)
[ - i 5 ] 8 g - t2 A1100P 2%
- ‘ X/ ‘ . 9 Rxvy7 $ 166 F40Y -
/ é} @/\% b é@ @/ \(: ol 8 10 yYy§-5k HDy Y -X - J-8
N N N 11 ERMTL - b t2 ATYVA -
S h 12] =EBfATL-} t2 ATYUA -
/ D / 13 LIy K t6 SPHC HEWERE (FHBNN- %)
®/ 14 kvy t6 SPHC HEWERE (FHBN®- %)
AU 1720 15 Ly Ik $12 SGD BREDD > &
£E 0 16 Ly IALE t3.2 SPHC HEWERE (BN - %)
. 5 ) 17 Bl 4% 20 A7 YU A -
19 BLERR 2.3 3.2 SGH HEWERE (FHBN®- 2
20 Bk t2 ATYVA -
21 EUBRL Y- t1.5 ATYVA -
22 Lk $12 ATV A -
23 Py t1.5 A6063S. EPDM -
24 Wt £ b M10x 100 4.6M8% BREND- &
25 ] M10x75 4.618% BREND - ¥
26 402 Y M5X 10 ATYVA -
27 y M4x 10 ATV A -
28 bIADRY M5X 10 ATYVA -
29 " M4x 10 ATVLA -
30 24T 316 PVC -
31 F7A by - H52 FEHSA A -
Of) BRAREIROLS. TEZKEETHLNHVET,

NERFFA (1710

BREE: V)Y Y- BRFREAVET,
yNy 45— (T-V8) HDY Y - X% CBALE T,
(Ny 7ty b 64mm. EES0mm)
TROBAE. HRTI -V VY F-%TBAIE D,




